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No BEEEUVERSE | RBERUEE ER-E 0] (ES) BiTHEME BESE 60 SHE(E =
Ex-p
20 30 50 6 =] 106 60
1 SRV 10. 40 0. 00 16. 00 0. 00 1.00 26. 40 14. 9433
2 ERHEAE SR I/ Vb 15. 00 23. 30 45. 20 6. 00 1.00 89. 50 50. 6603
3 [ P AN S 11.00 16. 70 18. 80 0. 00 1. 00 46. 50 26. 3207
4 ) L F0 R A R 5 13. 40 25. 00 30. 00 6. 00 1.00 74. 40 42. 1132
5 HEHR BT 13. 90 30. 00 49. 07 6. 00 1. 00 98. 97 56. 0207
6 BRI BAFEIYY YUY 17. 40 20. 80 49. 20 6. 00 1.00 93. 40 b2. 8679
7 Bk EFERER IV YA /b 17. 40 17. 50 46. 00 6. 00 1. 00 86. 90 49. 1886
8 (BEEER7" Ny 1hMvs- 17. 40 12.50 39. 87 6. 00 1. 00 75.77 42. 8886 )
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